R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 705\Drawings\Current\TX-4432-33.dwg, TX-4433

Endura

P R ODWUTCT S,

8811 West Market Street
Colfax, N.C. 27235

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & Ré13 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and
2404 (including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes
Astragal details (Ulfimate Trilennium)

Door panel details (lip lite insert glazing)

Door panel details (flush glazing)

Horizontal cross sections
Vertical cross sections
Frame anchoring

N~ Ah|WIN|—

73.94" MAX. O.A. FRAME WIDTH

97.69" MAX. O.A. FRAME HEIGHT (INSWING)

97.88" MAX. O.A. FRAME HEIGHT (OUTSWING)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

ENDURA
TYPICAL ELEVATION, DESIGN

PART OR ASSEMBLY:
PRESSURES & GENERAL NOTES

PRODUCT:

BY

5/07/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS

1

NOJ| DATE

REVISIONS

DaTE: 1/16/14

SCALE:  N.T.S.

DWG. BY: JK

XX | LIP LITEINSERT | INSWING +40.0 -45.0
XX | LIP LITE INSERT | OUTSWING +35.0 -40.0
XX |FLUSH GLAZED | INSWING +40.0 -40.0
XX |FLUSH GLAZED | OUTSWING +45.0 -45.0

CHK. BY: LFS

DRAWING NO.:
TX—4433

SHEET 1 oF 7/

© za14 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNOZ aNIaung "M*d +1LOZ §

ZS8LL—d # NOLVNLSIOIN 40 ILVOLJILLNID SNOISIATY
SYIINIONI TYNOISS30¥d 40 Q¥VOd SVX3aL «Emﬁ%@.&ﬁ&%ﬁ%ﬁ:v A8 31vd [ON| « i 7_
ZBLEERE LR PO SuBtd S417| 38NLdVO NId IVOvYLSY MIN dav| si/s0/Ss | | Ny n|x L 2, N
S6SEE 14 OOMIDA O£Z Xo8 0°d \Su\g. "A18W3SSY d0 ldvd © M .-
“ONI ‘SINVLINSNOD ONICTING J 2 | 2_
= . |&|&le B
SZTIYOL# *3'd SvxalL Y4NAN3 MEIFIME &
*3'd IPIWYOS 4 uopui] :Ag peJpdeld sjuswnooq :19Na0dd W. n& W m m %
WOLLO4
o |*l .—lr.v
N
g, _.m./_u T =
i2) e 3 i
¢ PR RENt ] - k.
it J0 w..f;}.\( ~N
AL EERR R .
- T WS9C —
c
o
b5
o in _ %
N in —
W N o]
5 2 -
= <
in
8 N
M -
‘ e
- os
N 2
= O — =
& = S
Q <
o Q
. g = o
b oz oz
“ =
o [0 %4 D
O 3 T
Z S
in
Q
0
" wn
X
o
q
il _
dOlL
)
>
O —
o £
I D
..nhu c
m m / \ |
3= = <C
=) @)
<
(0%
T
)
<
A g =
= 3 = £
£y 22g 2§ W
~N o 98 £ < —|
> Qe o 2 == o
g -3 o 2 ] —
2 = Q0 =
o < 9 o< LLl
e 8 = =
= *= AMn
N
5 = =
< =
\ -
Y-Div e i — - 2 =7/

72 'BMP'EE-ZEPY-X L\uaLIND\sBUIMBIA\GOL - IAL1\SU] J0 3daq sexe |\LNINVINY3d einpu3\siualD\y



11}
QR
Ry 0
Jo o
£ B U8
STILE STILE Su oB BT
(WOOD COMP.) INTERIOR (WOOD COMP.) [OP RAL LN T
. c ) - J%
(WOOD COMP,) : § g £ g2 3
—— = = > — — o, < c < <0 g [e]
S e izl -0 W
E{) \ / ("- g E“T’\)\_f?“ Z Oowm oun
= § % RIS & 8§ E8
\ / LU = ® ,‘; 2 . ©
‘ D Z | e Jog Of
R § 592 Ep
» - & Dod gg
16 EXTERIOR 16" s X 0B
FIBERGLASS SKIN . E @ g 7
(0.075" MIN.) 6
\ g
m HORIZONTAL CROSS SECTION
& a
n<Z
<
BRI W~ E o
35.75" MAX. % 5 d%
PANEL WIDTH 2 |z 25
= ol =
[w} o o
21.0" MAX # B x=
; ' INTERIOR EXTERIOR . < -
LG WIDTH #6X 1-1/2" PH SMS — p — 3 %| S
a o =
E 3 } 2 o
GLASS BITE 1/2" & g
INTERIOR Qe
] (2}
_ 1/2" NOMINAL GLASS THK. =
o
A |~ 1/8 TEMPERED GLASS 2
) .~ — AR SPACE , %
~_ g FOAM CORE e 2
% ':'—: . ':E S 1/8" TEMPERED GLASS (POLYURHHAm o a %
oun <9 1 B 3 |5
22 =T 7 3 STEEL SPACER g
< m - O =
=2z R3 EXTERIOR Q'SO SEALANT 2 &
D e =
LOW TACK SEALANT &
: (@)
BOTTOM RAIL S
C) GLAZING DETAIL 2
Lip Lite Insert Glazing (WOOD COMP.) ™S ] 0
N N\ L
= N =
E|
b o
=z
MASONITE I oaTE: 1/16/14
Insert glazed ’ SCALE:  N.T.S.
(fiberglass) DWG. BY: JK
CHK. BY: LFS
/2" VERTICAL CROSS SECTION RAVING O
\3/ TX—4433
SHEET _3 oF 7

R:Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 705\Drawings\Current\TX-4432-33.dwg, 3.2

© 2014 R.W. BUILDING CONSULTANTS INC.



"ON| SANVLINSNOG aNIaing "m'y 102 @

Zs8ll—d4 # NOILVMLSIOZN 40 ILVOI4ILNID (ONIZY19 HSNT4) SNOISIATY .
SHFSNIoNs Tynolsssond o dEveS Swal S1iVi3a 13Nvd H00Q m%um_q J4N1dVYO Nid IVOVHLISY M3IN aay mpw._m.Mmm O_Z M IS m M 7_
L616°6G9°CL8 ON euoyd - ) )
GESEC M4 OOMIDA OFZ %08 0°d \SV@. "ATBW3SSY_¥0 1dvd NN LY
*ONI ‘SINVLINSNOO SNIQTING N = g | 4_
= |&|&|e &
SZTLYOL# 3'd Svxal YdNang =N PN B G
*3'd ‘IPIWYDS ‘4 uopuAid :Ag peJtpdeud sjuswnosoq 119N00Y¥d W g W z m 5
o
o
&
= S
Hd :Q.O = -”
(@)
e
[ 7]
(7]
: |
S
-
o
x i \ <
o Z
= = O o T Zao
Sk =z 3 oz Ol == it
o}s) 53 = s 20
- oy _ W < — O
) X in O EQ
Q 35 oF-4 ¥
®) 03 o O
z E < z
[=2]
(W
| o
22 2
w
=) _. Z< © o
%0 i IS0 o a
= ‘ Be) U< W ow ]
= Zx g5 B
< <0 F & = 0
4 : . B Z o x © Q
= T 2y —< - Z
2 | EET A\,
e
5 3
O & o
- rDa.m
2 =G
(@) Sl<
vT] = =)
%] O
o] o
oz A\ (%4 m m O
o ®) O =
% = = =
— L <
> = =
] Z < 77
(o]
N
o
o
X
mw
-
T —
PaN O =
< m e w
L
35&
+r | ¥ =
D
. T
iy M w 20
59 ~— Sl % o o == . lHomWOTa ___ |
= - 5=z 20 XVYW.0'6/
a o Z ~N m
—_
s LHOIEH TANVd
M JOOd XYW .56

T 'BMPEE-ZEPY-X1\uBLND\sBUIMBIANGOL - IAL\SU] 4O 33 sexa\ININVINYId eINPUI\SIUSID\Y



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 705\Drawings\Current\TX-4432-33.dwg, 5.2

1/4" MAX.

X

7

2X FRAMING

(G >=0.42) _\

SHIM SPACE
EXT. SHEATHING 7 "‘

LII111111117177177

DRYWALL —/

#8 X 2.5" PFH WOOD SCREW /

#8 X 3/4" PFH SMS

(10 / / ]
N /// ///
/ /
0.15"
~— CSINK 4 \
(TYP.)
2 NN
NI
/— #10 X 2.5" PFH WOOD SCREW
— JAMB
ENDURA WEATHERSTRIP
(QEBD 650)
INTERIOR
- ENDURA WEATHERSTRIP
(QEBD/PE 650)
S
\ EXTERIOR ,X Ns
#8 X 1" PFH SMS A
4"HINGE #8 X 3" PFH WS
#8 X 1" PFH WS

m HORIZONTAL CROSS SECTION

W Inswing shown - Outswing also approved

TRILENNIUM

SERIES 3000 MULTI-POINT

LOCKING SYSTEM

CORNER PADS (TYP.)

ULTIMATE TRILENNIUM ASTRAGAL

/ DOOR PANEL

m HORIZONTAL CROSS SECTION

NG

DOOR PANEL

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

TRILENNIUM

SERIES 3000 MULTI-POINT

LOCKING SYSTEM

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

ENDURA

HORIZONTAL
CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

BY

5/07/15 |ADD NEW ASTRAGAL PIN CAPTURE [ LFS

NOJ| DATE

1

REVISIONS

oate: 1/16/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4433

SHEET 5 ofF 7

© 2014 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 705\Drawings\Current\TX-4432-33.dwg, 6.2

— 2X FRAMING
S—
i >< (G>=0.42)

EXT. SHEATHING \ ’ Y / DRYWALL
©_L—#10x25 PFH
i ] woop screw

1/4" MAX.

SHIMSPACE — ~__ ftlLl

0.15"
C'SINK
(TYP.)

-

DOOR PANEL \
M HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650)

EXTERIOR L INTERIOR

/ 1"\ VERTICAL CROSS SECTION
\é/ Outswing shown - inswing

also approved

EXTERIOR 1/ INTERIOR ST

ENDURA DOOR SWEEP

(DBK-ZAC) L B &
ENDURA THRESHOLD 5 xS ISR

(Z-SERIES INSWING ARTICULATING

g S : &‘io LY
Pyl = BN A /I
DOOR PANEL S EHIRCA Y
2 s N . ™M .
\ ':!!l : ,‘rﬁscf)s(\‘ 0\3,.:, t,

#IACL4565 (shown)

SILL w/ PIN CAPTURE)

LT

#10 X 2.5" PFH WOOD SCREW
1/4" X 2-3/4'ELCO OR
ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION
w Inswing configuration

INTERIOR DOOR PANEL EXTERIOR EXTERIOR /L INTERIOR EXTERIOR /L INTERIOR
ENDURA WEATHERSTRIP —\\\
(QEBD/PE 650) DOOR PANEL DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \ ENDURA DOOR SWEEP
(Z-SERIES OUTSWING) (DBK-R) (DBK-AC)
ZOBA4565FN (shown) ENDURA THRESHOLD ENDURA THRESHOLD
(Z-SERIES INSWING ADJUSTABLE) (Z-SERIES INSWING ARTICULATING)
ZAI4565FN (shown) ZACA4565FN (shown)

AT

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW

m VERTICAL CROSS SECTION

7“3\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR 1/4" X 2-3/4" ELCO OR
[TW CONCRETE SCREW ITW CONCRETE SCREW

/“ 4"\ VERTICAL CROSS SECTION

@ Outswing shown w Inswing configuration W Inswing configuration

W,
LN
L 0
Yo i i
Ex o m
= n F4
C . - r4
0w Om [C]
w20 %
i .o
cg - -}
§3 Eqo 2
Ou <00’ o
g}— EITWO =
3 dge 9
2> A
17 s E
Z0m o
% SR. &
@ § o
O Xz
o o L
z
o E0e ©
a 256 ©
3 50¢ %
& Don g
@ ig 0
B
=3
P 2
3
3 =
<}
o

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

BY

5/07/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS

1

NOJ/ DATE

REVISIONS

oate: 1/16/14

SCALE: N,

T:S:

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:

TX—4433

SHEET 6

OF_/_

© zo14 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 705\Drawings\Current\TX-4432-33.dwg, 7.2

s o 2X framing (by others) JIECCESCEeN [
SwZ TR S Y M o.-
2O Sorlinlek, S[EE, g
0% ¢ 5 Astragal Strike Plate SIS W ES B U8
ITo ¥ 2' i a @ Head Jamb iS5 A [ |%u oB  BY
Rt — (TYP.) : ‘ .2 Z z/!
(me) | ’T__ 6" , weo S Eb Hy
; B == (TYP) | 4 - (=] -, ﬁkg % “'S % gs
| SEE HINGE . T = [od = sk Ecp 29
L | 2>, U
? ; DETAIL T i \ l ? \\ 2o0% EE
N #10X 2.5" PFH DETALL 1 % AN & 8. £g
3 WOOD SCREW Lz o #10X 2.5" PFH WS 3 93% .,
& (TYP. @ HEAD E § §. .8 5°
AND JAMES) DETAIL 1 g ads 2%
= : s = m
% L ; f | : =
B ; \ I
#8 X 2-1/2" PFH WS F
_ e :
2 ¢ o 1] e
L - — 4«0 | |o< <
3 L #8X 1"PFHWS S8 11l 1™~ gy 3747 phH Ws
SEE HINGE ' T 4"X 4" HINGE o
DETAIL 2 \) =
\ - S
b _ _ x o 5
| HINGE DETAIL 1 3 g =
& (92
L
| DETALL2,30R 4 | - B =
o N = o &
3 * * | | #8X21/2PFHWS |8 5
\ 2 oy
| i le’/ I : N o | e 2
Y ] o o
48X 1" PFH Ws Zf6 - FI| ol
#10 X 2.5" PFH WOOD SCREW | —F= #8 X 3/4" PFH WS 2%
4'(TYP.) 1/4" X 2-3/4" ELCO OR " 4" X 4" HINGE o
4" (TYP.) ; ITW CONCRETE SCREW \ o2
4" (TYP.) \ 2
HINGE JAMB (TYP@SiLL) !
HINGE DETAIL 2 9
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME AAX,)E:H ORING =
CONCRETE (MIN. 3000 PSI) vl
WOOD (G >=0.42) % . _ 3| |2
NOTE: Outside anchors are required for D.P. > 40 PSF. = |2
o e
< o
=
(]
P
CONCRETE ANCHOR NOTES: =
. Concrete anchor locations at the corners may be adjusted to maintain the min. ASTRAGAL PIN CAPTURE #10 X 2.5" PFH WOOD SCREW E
edge distance to mortar joints. COMPONENT (UNDER CAP) 1/4" X 2-3/4" ELCO OR Em
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo [TW CONCRETE SCREW Peli
maintain the min. edge distance to mortar joints, additional concrete anchors 1/2" DIA. HOLE (IN CAP) N
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 1/2" DIA. HOLE ’ -
. Concrete anchor table: \ ) -2
8 v & . froe = j/ ASTRAGAL PIN owte: 1,/16/14
S Y B CAPTURE SCALE:  N.T.S.
,,,,,,,,,,,,,, COMPONENT owe. B: UK
Imw
® n . " ‘l_‘l 2" 4" CHK. BY: LFS
TAPCON® | 1/ 1-3/ / DETAIL 2 DETAIL 2 DETAIL 3 DETAIL 4 DRAWING N0
E"CO " " " " OUfSWIng InSWing |nSWiI'lg ]nSWing TX—4433
uLTRACON®| 1/ 1-3/ 1 4
SHEET _/ ©OF 7

@ 2014 R.W. BUILDING CONSULTANTS INC.



